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������%��*������21���./�����*��*�D�*�G�A���D���
���H�+�������G�,>�I��,/��,��J��,����I��G�,A��,������*�
����1��D�*�D����@�

�6���
>����*�D�*�
��*�1��+�*������21��	�@�
.3/����C����
$.���
��	*���������0E-4��5�23���K8�L+:���

���23���*M�8�N�:����������*��*����O����./�����;������*�D�*�
3������+������G�,A�
��D�*�D���I�C������������������
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�*�1���P0>�(�I��
��I��/������6���S.C���**�@����2��0��I���T�A�+�0-�@����
>�53-�����D�*������)�*�B����-�+��

∗�����*�I�Q��D�*��*�������23���*�	���	*�U�8�&�:���1.��%�������V���������*�,���,��2,��0���������
��+�����������,��6,W/���,�)�*�����,�)�*�B�,���,-�

�0-�@+��

∗��������������,������,����6��W,T�I*�,��*��'��6$A�
�����-�����21A�
��6�?��*��*���X�5��&�
����
�����Y@�*Z�>���)�*��*�V

P���*����	
�����
����)�*��6��WT���������1�����Y@�&���[���F��&���[�
��
�.��
��*������
�>�@��+���

��

��



� �

�2\>��*R�]��������������������������������������������������������)�*��������������������������������������������������������������������������������   �����������^_��� 

��


��9:��������]����

��

�
����@�S��G�A�
��D���6F%��K� )        2≥
a

b

L

L
                              ( ��

 

∗��������2��0��6�?�<-��*�������)�*��-���*�+��
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A�1`���0������)�*��-����������S.)����������
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�>�@��P���*��H-�3-+��
��������J�D�*��T�A�6�?��*��H-*�&��FA�
�

*������
�>�@��P���*�D��������G�A+��

��

∗�6���
������
P>�'����������S.)�����*�21A��-��
��*����1��
�>�@��P���*�D�*��T�A����������H���. �a����-���*�

��������I�0.1���b-�T�6�?��*��+��

��

∗1���..E/������������./��0��1��D�*�9$�W��c�����*��Q1[�I�+�����

�	�@�
.3/���'��
����'��
$(�>����%���/�F��'��
���*�D���J�	*���
���*

��d���B��/���	�"A�
���D�*�*�
��
���*��-��(d) �����3C���
��e�������

*������
�>�@��P���*�+��

∗
����'��
$(�>��/�F��'��
���*�J�	�%3-����)�*��*��
.3/�����*�R1.-S������0��I�1���3.)�*������
�>���P���*���'��

*��������P0��	�@+��

∗�
�����`��
���*��*�D���;"�[��
3./��(��*�	�%3-�����
���*��*�Kf�g�b-��T�
��I��/�����03��
��`/���3C���
���*

�23���*�	���	*�*�I�Q�h�*�1��	*�����������+��

nUUnUU LWVLWM βα == 2 

∗�LN��0��I�1�������;����*�*�
��
���*�=�������6Fi��I�1�������*�
��
���*�+��

∗�*�
��
���*�
3./��(��*�LN �
����1��3 m ���0�������1��e�1/�b-�T������
12

1
*�������[+ 
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��������   �����������������^k���� 

��

∗
����1���QQ��*Z�>�6F%��J�
>�53-�D�*��Q1[�&�F��'���*���bρ 8��l�'.?�/9\���:��������/��,FA�
,����*�,���,����,.�[�

����������������F�����Q>�*�H$.��
��
�.��
��*��������.�[�������D�*�6��WT�+���������
�.��
��*���L�W����������-���D�*�6��WT��.0j1�

���F��&���[�
�+��

∗���������-
�D��?�4��5��D�*�6��WT�2O����+��

��

��

��

��

∗��?��!�>�D�R.$%/�6���������*Z�>�������fy = 400 N/mm
2
 ��������+��

b-��T�J�R.$%/������������-������� �*��-������
670

YF
�0.4 +  *���L�T��+��

 

∗��m�1/��?��[�=.'�����D�*�
���5-����*�J���*�H$.������n>�'�������QO�*����d~ 25-30 mm  �����������>��+��

��

∗�*�H$.��S����
��S����
$(�>�����%���i�������M��-�D�*�6��WT�������350 mm �����*����0,������3C�,��
,��e��������

F����*�H$.���.��*�
��
$(�>��5-����o.����,-�*�H$.���5O�
���-�1.33��������,-���
���H0,���-�,�@�S���1,����,5O��,�����25 mm �

�������1�+��

��

∗������������������,��D�*��HC��,p3-�6,$A�
�����0�������. �D���I���q1?�
��2-�1/�����&�����
?�*��������G�F����	�-� �
`.����*�

������������������
���QQ���0/�r�D��������2������*�q����*�?��
`.����*������@�
.3/�����./�����*�,`-��D�,1����
,`.����*����-�����*�?

������������$(��*�H$.�����*�1A�*�������*�6���e
Z��Y)�s�/�8�����D�*��)�,��*��,�����*�:��������������@�,��q,1?��,��
,$��������,���-�,�*�H$.��8

G�F����:�*�1����P0��&�����
?�*�&��..t/���+�0-�@�����/��������*�H$.�������*�H$.���-�+��

��

∗�/��������*�H$.���(�*�2O���������
�����.-��4F����

��

�����fy �
����3C���400 N/mm
2
 �����= 0.002                                                       ρ 

� �As= 0.002 bh              �    

  ��

 

������������fy ����%��400 N/mm
2
 �������= 0.0018                                                    ρ 

� �       As = 0.0018 bh                      

 

 

 

�)�%0�� �	�%3-���������*� �	�%3-�������<-� �	*���
���*� �

L / 10 L/28 L/24 L/20 
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 ��D�i�]��-
��-�\/��*�	���	*�*�I�Q��
>�53-����)�*�������6%��$5��]��

DL = 15 KN/m
2     

LL = 7 KN/m
2      

 

FC= 25 N/mm
2     

fy = 350 N/mm
2 

  
 

A����������./�G�400 mm 6���+��

 

��]���

�G�A�
�������������
�������1m���6Fi�������1����R.0�����R�������

R-�������6�*�
��I�1��b-��T�
��	*��������������0�+��

��

����6���������
���*�*�
��D���]Ln= 4000 - 400 = 3600 mm                                                             

WU = 1.25 (15) + 1.5( 7) = 29.25   KN/m
2 
                                                                         

    

WU��= 29.25 (1) = 29.25  KN.m                                                                                               

���
���*6Fi��R1-S����I�1��
F��'���)������������

mKNM
LW

M u

nU
u .1.27

14

)6.3(25.29

14

22

=�== ++   

��

����.��R1-S���������0����0��I�1��
F��'�] 

mKNM
LW

M u

nU
u .8.15

24

)6.3(25.29

24

22

=�== −− �8�����0��	�@�
.3/��*�I�1�:  

�8����.��	�@�
.3/��*�I�1�:    mKNM
LW

M u

nU
u .38

10

)6.3(25.29

10

22

=�== −−��

 
�D�*�6��WT 

��
��6��WT�2O���t = [ L /24] × 0.92 = [ 4000 /24] × 0.92 =153 mm         ����0��
���*���������������������

t = [ L /28] × 0.92 = [ 4000 / 28] × 0.92 = 131 mm                            ����.��
���*������������������������

� �160 mm                              ��use                    t =  

d = 160 - 30 = 130  mm 

 

80.92������
��2-�F/�Fy�9)�W���Uff�����v��:��

�6-����
F��'�d����Q>�*�H$.��
��w�.����e�A��������

YY

C
b

ff

f

+
×==

600

600
6.0 1max βρρ                                                                                                                    

 

023.0
350600

600

350

25
)85.0(6.0 =

+
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��������	
�����������������������������������������������������������������������������������������������������������������
��������   �����������������^x���� 

�����.��D*�E/�
5����
��]��

0.85 ( 0.6 × 25) 1000 a = 0.023 × 1000 × 130 × ( 0.85 × 350 )    ����� a = b 9.8  mm                      

�   

 

Mr = { 0.023 (1000) (130) (0.85 × 350) [ 130 -  69.8 /2 ] }   × 10
-6 �

                        

Mr = 84.6  KN- M  > Mmax 8*�?��:  =  38            O.K.                                                                 

 

� �]�a�����������W����6��WT�D��0�  

VU = 0.575 × 29.25 × 3.6 = 60.5   KN      

�
$(�>�
�d�	�@�
.3/����
��VU = 60.5 – 0.13 ( 29.25) 56.7  KN     

VC = 0.2 �C �FC  bd  = 0.2 (0.6) �25  × 1000 × 130× 10
-3   

= 78   KN 

                          

> VC             O.K.                                                                                          ��VU� 

 

���*�H$.��q5���#5��
F��'���]��

��

)009.011(5571

.85.0

2
11

.85.0
2

US

dC

U

dy

dC

S

MA

bdf

M

f

bdf
A

−−=

�
�
�

�

�
�
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�
−−=

 

MU��b%�����kN.m��������+ 

��

�6Fi��I�1�������
�.��*����*Z�>727  mm
2                                                                                                    :  ��AS = ��

                                ���                     �12 @ 15  cm  c/c               

 ��0��I�1�������
�.�*����*Z�>: 

(i) ������0��
���*�������                          �               AS= 411  mm
2   

  

                       �12 @ 25  cm  c/c                                         

                     

(ii)                         �������.������
���*�������� 1052 mm
2 

                    �               AS =��

                        �12 @ 10 cm  c/c ��
�e
Z�*Z�>�I�S.��D��0���

��

AS max = pmax  bd  = 0.023 (1000) (130) = 2990  mm
2 

                                                     
��

AS min =  0.002  bh  = 0.002 (1000) (160) = 320 mm
2                                                                             

  

� � Asmin  <  AS < ASmax           O.K.                                                                                        ��

��
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��6���
�>�-�2.3Q/��s�$��
C�./�9��] 

                                                �7y ��2(��>�
��
C�./�50  cm   ���

��������������������������������	*����������������Ky ��0�������)�����)�[�/�����s�$����

��� �My� �
�����
-Z����s�$��������	*���� �������
C�./�������z>�
�����

�*����6��WT5  cm��*����2.3Q/�+��

��

∗��0�����21A�
>�53-�D�*�&��(�
��s�$��
C�./�9���+��

∗�q5���<-�&��(�
��
C�./�J
C�./�����������>�@�
��{ �T�0�����21A�23���+��

��

�;����
 ����!"#����<���������

7y�2(��>�
�����
C�./�I*�*����O�50 cm��$(������./������H-�3-�
�����

Ky��c�����*�J�
���*�D���
��
�%�����
C�./��-
���-�=�1/3 *������
�%��<?���a��/����C�
��	*������������
C�./�
���*�+��

My**�@����e�`������
C�./��.�����Y@�s�$��+��

Uy�Z�1E���/�����*�H$.������$�������6 ��2(��>������25 cm *������
�%���+��

|y�9����S-��������

��

∗�
����@�S������
���*������3 m "��*�`-�����
���*�=����*�����0������H-�3-�
���T�A����>+��

∗�
����@�S��
���*������4.5 m �c�����*��T�A�;"���*�J�1/3 *������
���Y@�
���*�+��

∗�I��/�����������e�������������.������4F��7f�g�
����Q.�VC �6>�@��P���*����./������D�1E���+ 
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��������	
�����������������������������������������������������������������������������������������������������������������
��������   �����������������^^���� 

 

�D�i��]s�$��
C�./�9���<-�������6%��$5������������D���
�����
C�./�4 m�8�����S,����
,��S����:����
,���*�D�,���,���

��*�
�3.65 m  8���s�$��
C�./�9���	*���I
����4.15  kN /m
2�:��

��

Fc = 25 N/ mm
2                                        

fy = 300   N/ mm
2                                                                                             

2.4  kN /m
2
                                                        �}������
���9�L.L = 2 kN /m

2                                  

 
 

 

 

�
.)���B��/���L�W�����

hmin = L / 28 = 4000 / 28 = 143  mm                                                             

� ������������������������������������������������������������������������������������  = 200 +50 = 250 mm���W����B��/�� 

��

�����s�$����������
-Z�6��WT�D��0���

WU = 1.25 [ ( 0.05 × 24 ) + 2.4 ]  + 1.5 (2) = 7.5    kN/ m
2                                                                   

�G�A���>�@��P���*���1m ����WU = 7.5  KN / m                                                                         

 

 

�MU = WU L
2
 / 12  =  7.5 (0.4)

2   
 / 12   =   0.10  KN-M                                                    

FCt  = MC / I  =  
3

6

)50)(1000(
12

1

25101.0 ××
= 0.24  N/mm

2                        

� �= �c ( 0.6  �fc )  =   1.8 > 0.24    O.K.                                              ��FCt���

��

�
C�./������ 

= 4.15  kN /m
2
                                                                     s�$��
C�./�9���	*���I
����

� ���~���

          =     2.4  kN /m
2
                                                                            �
���9���

6.55   kN /m
2                                                                      

 

� �WU= 1.25 ( 6.55 ) + 1.5 (2) = 11.2    KN /M
2                                                 

� �WU= 0.5 × 11.2 = 5.6   KN/M             ��
C�./����

=0.5 
C�./��.@����G�A���

���0��I�1��
.����8�	�@�
.3/�2'��]�:��

MU= WULN
2 
 / 11  = 5.6 ( 3.65)

2 
 / 11  =  6.8    kN.m                                             

 

∗ �0�����21A��$.5�%��q5������
C�./���0��I�1��
.�����*+���

d = 250 – 30 = 220    mm                                                                                                  
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�

�
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�

�

×

××
−−

×

×
=

Φ=�

�
�
�

�

�
�
�

�
−−=

2

6

2

2

)220)(100()256.0(85.0

108.62
11

30085.0

)220(100)256.0(85.0

102129

.85.0

2
11

.85.0

S

dC

U

dy

dC

S

A

mmAs

bdf

M

f

bdf
A

  

 

  ��6Fi��I�1��
.����8�.��
���*���:���

MU= WULn
2 
/ 16                                                                                                                   

 

 

� �MU = 5.6 (3.65)
2
 / 16 = 4.66  kN.m    

      

 

�
�
�

�

�
�
�

�

×

××
−−

×

×
=

2

6

)220)(500()256.0(85.0

1066.42
11

30085.0

)220(500)256.0(85.0
SAAS= 0.85 ( 0.6× 25)  

    AS= 83.7  mm
2                                                                                                                                                                                   

 

a���D��0��      

Vu = 0.57 WuLn  - Wu d                                                                 �
$(�>��*��d�
F)�
�����

= 0.575 (5.6) (3.65)  - 5.6 × 0.22   = 10.5   KN                                   ��                            

 

 

VC = 1.1 × 0.2 �C �FC  bd  = 1.1 × 0.2 × 0.6 �25 × 100 ×220                             

�����������������e
Z�������������������������������������������������������������VC= 14.5  KN  >  VU             �����������                        

  8 7fg���SH-
�*Z�>����[�
���-�S>��=�1.1:���

 
 

� � 

� �	
�����
��2O�����-������
C�./��QQ��*Z�>12 cm - 13 cm �2[�*�
��

�����
���*�
��*��	�@�
.�/+ 

 

 

� �
���E��
$(�>"�����@�
.�/�J���
C�./�b\����b\��6O����*����+���q1���������/����C�
$(�>�)�������
��

*��*��H�%��������/����C������
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��
���

6���+�������D�*�I
�����	�"A�	*������1.5 KN /m
2
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4.8 KN .m
2
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Fc = 20 N/mm
2��                                                                                        

                                                           
Fy = 400 N/mm
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+
�       �� / 140  �2�� �=.'�h =   

� �Use      180   mm                                                 

 

�����F-�T��������
F��'���

 = 0.18 × 24 = 4.32  kN/m
2                                                                                                                  �D�*�I
����

� �= 1.25 ( 4.32 + 1.5 ) = 7.3                                                        ���F-�T�	*����������

� �= 1.5  (4.8)  = 7.2                                                ���F-�T�	��
���������

� �WU= 7.3 + 7.2 = 14.5  kN/m
2                                                                 ������ 
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M
-
 = 0.069 × 14.5 × 5.7

2 
 = 32.5  kN .m / m                        	�/���
���*�*�������*�����

� �M
-
 = 0.04 × 14.5 × 6.7

2
 = 26  kN.m /m         0$��
���*�*�������*������

� �  

                                                          
2

046.0034.0 +
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���*�=����*�6Fi��I�1� 
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M
+ 

 = 0.036 × 7.3 × 5.7
2
 = 8.5     kN .m / m                               ��8�	*�������
������: 

� �M
+ 

= 0.043 × 7.2 × 5.7
2
 = 10.1  kN.m /m     �8���	��
�����
������:� �

� �kN.m /m�18.6 ��M
+ 

 + M
+ 

= 8.5 + 10.1 =8��	*�������
������:��

2

072.0066.0 +

5 m 
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 = 0.019 × 7.3 × 6.7

2
 = 6.2    kN.m /m                                          �8��	*�������
������:��

� �M
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= 0.023 × 7.2 × 6.7
2
 = 7.4   kN.m/m                         �8��	*�������
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C1

+
=

β
ρ MAX

                                                                      

 0.0153 
400) 600 ( 

(600)
  

400

 0285.00.6
=

+

××
=MAXρ � �

ASmax = Pmax  bd  = 0.0453 × 1000 × 155 = 2372  mm
2 

                                            
��

� �0.85 ( 0.6 × 20 ) 1000 a  = 2372 ( 0.85 × 400 )  � a = 79 mm                                      

     � �MU max = 2372 ( 0.85 × 400 ) ( 155 – 79/2) × 10
-6 

� �MU max = 93.1     kN.m /m                                                  
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U = 32.5       AS= 664  mm

2
/ m    �                 �10   @   10 cm    c/c�
���. �
F)��

AS=324       �10 @ 20  cm  c/c        �          MU = 14           AS = 274  mm
2
/m  × )
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AS=324       �10 @ 20  cm  c/c        �                       M
+

U = 118.6     AS = 368  mm
2
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� �

�2\>��*R�]��������������������������������������������������������)�*��������������������������������������������������������������������������������   ���������������� 

��

��L�:���0$��
���*��*�e
Z�*Z�>8 d = 145 �:��

          M
 
U = 32.5       AS= 664  mm

2
/ m    �           �10   @   10 cm    c/c 

MU = 10.2       AS = 212  mm
2
/m    × AS = 324           � 10 @ 12  cm c/c                   ��       

  1.6 M
+

U= 13.6     AS = 285  mm
2
/m    × AS = 324           � 10 @ 12  cm c/c                     
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�a���D��0� 

= 14.5 ( 6.7 × 5.7 ) = 553 .8   kN                                                             �D�*��-����2���������

���0� �
��D�*�
���������������������.�1m	�/���6�?��*����

    /mkN    27.3    
6.7

1
  553.8  

2

0.66
=××=V  

�0$��6�?��*���������.� 

 /mkN    16.5    
5.7

1
  553.8  

2

0.34
=××=V  

� �VC= 0.2 ��fc bd = 0.2 × 0.6 �20 × 1000 ( 155 ) × 10
-3   

= 83.2  > 27.3   
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2                                                                                                                      

 	*���������

Wu = 1.25 ( 4.32) + 1.5 ( 6) = 14.40  kn/m
2                                                                                              

� ���LN = 6 – 0. 35= 5.65 m                                                           �*�
��D���  

 

�*������I�1���$[8v��.����v����������2���:  M0 = ( 14.40) (7.5) ( 5.62)
2
 / 8                              

M0 = 431 KN.M                                                                                                       

 

����
F)������I�1�8v��.����v����������2���: M0 = 14.40 ( 7.5 / 2 + 0.35 / 2 ) ( 5.65 ) 
2
 / 8        

������������������M0 = 226  KN.M 

 

 

��0�����6Fi�������1���..E/����86���v��.��J
���*:��

�������$[�*��������0��I�1�M
-
 = 0.65 (431)= 280  KN.M                                                 

[�*������6Fi��I�1�����$M
+
 = 0.35 ( 431) =151  KN.M                                                  

 

������
F)��������0��I�1�( 226)= 147  KN.M                                                 �M
-
 = 0.65��

�����
F)������6Fi��I�1�M
+ 

 = 0.35 (226) =79  KN.M                                                  �� ��

��

��	����)��	�3#�������	�1�������PL��)�6AT�����	�+��U�F���H��

L2 / L1 = 7.5 / 6 = 1.25                                                                                                  

 

��$[�*����������] L2 / L1) =  2( 1.25) = 2.5 > 1                                                           ��:��� 

 

�����L2 / L1 =  1.25 �D��?�
��K��.�����.������	�@�
.3/��*�6Fi������0���Q1[�I�1��
�������������R���J75% ��

��/%45 ��5[����.���*�4-���
��
����������67.5 % ��-�����6�����+��

��

���./���0��I�1�0.85 ( 0.675 ) (280) = 161                                                                     

��������������0��I�1�� �� �� �0.15 ( 0.675) (280) = 28.4                                               �             

 ��������.���������0��I�1�0.325 (280) = 91                                                                       

 

���./�6Fi��I�1�0.85 ( 0.675)(151) = 86.6                                                                   �./�R����

��������������6Fi��I�1�0.15( 0.675) (151) = 15.3                                                        D�*�R��� 

������.�������6Fi��I�1�0.325 (151) = 49.1                                                                     

 

 

�����
F)����������� L2 / L1 = 2.86 (1.25 ) = 3.58  > 1                                                   

��



� �

�2\>��*R�]��������������������������������������������������������)�*��������������������������������������������������������������������������������   ���������������� 

R������F.���$[�*������
��Q�����.������������������I�1���+��

����./���0��I�1� 0.85 ( 0.675 ) (147) = 84.3                                                           

���������������0��I�1� 0.15 ( 0.675) (147) = 15                                                       

����.���������0��I�1�� �� �� �0.325 (147) = 47.8                                                   �                     

    

���./�6Fi��I�1� 0.85 ( 0.675) (79) = 45.3                                                               

�������������6Fi��I�1�0.15 ( 0.675) (79) = 8                                                           

�����.�������6Fi��I�1�0.325 (79) = 25.7                                                                   

 

�6���	���	*�*�I�Q���-
��-�\/��*������������1���-�+��

��

��
 

��

��



� �

��������	
�����������������������������������������������������������������������������������������������������������������
��������   ������������������^���� 

����0�+��1��2��8���L���8�
�6�<�� 

LN= 7.5 – 0.35 = 7.15 

   

  ��2���3./�����I�1���..E/������M0= 14.4 (6) ( 7.15)
2
 / 8       M0 = 552  KN.M                              

                                        

�D���?�
����0����6Fi�������1���..E/7� 

 

����$[�*���0��I�1�0.7 (552) = 386                                                   � 

��6Fi��I�1�0.57 (552) = 315                                                          8��v��.��R����v�����R��J��*���:��

����0��	�@�
.3/��*���0��I�1�0.16 (552) = 88                                       

 

���/���)��	�3#�������	�1�������PL��)�6AT�����	�+��U�F����


F)��./��Qj. ���W� 

 ��

(500) + 1/3 [1- 0.63  (180 /320)] (180)
3
 (320)�C= 1/3 [ 1 - 0.63 ( 350/ 500)] (350)

3
  

 

 � ��                                                                     �4.4 × 10
9
 mm

4 
                                � C = 

         

 

 

� �C = 1/3[ 1-0.63 (180 /670)] (180)
3  

(670) +
   
1/3[ ( 1- 0.63 ( 320 /350)]

 
( 320)

3
 (350)

              

                � �� �                          �   

C = 2.71 × 10
9 
                                                                                                                 

 

 

1.15  
) 10 2.91 ( 2

10  4.40

2 9

9

=
×

×
==

s

t
I

C
β           ,  � = 2.5     

 

L2 / L1 = 6 / 7.5 = 0.8                  � L2 / L1  = 2.5 ( 0.8) = 2 > 1                         

 

�����J����.��	�@�
.3/��*���0��I�1���..E/� L2 / L1  �D��?�
��K��.���5[����.���*�4-���
���J�75% ��/�90% �J��

81% ��-�����6����6Fi������0��I�1���*���������+��

 

���./���0��I�1�0.85 ( 0.81) ( 386) = 266                                                                 

 ��������������0��I�1�0.15( 0.81) (386) = 47                                                           

 ����.���������0��I�1�0.19 ( 386 ) = 73.3                                                                    

     

 ���./�6Fi��I�1�0.85 ( 0.81) (315) = 217                                                                

 �������������6Fi��I�1�0.15 ( 0.81) (315) = 38.3                                                      

 ����.�������6Fi��I�1�0.19 (315 ) = 60                                                                      

           

 



� �

�2\>��*R�]��������������������������������������������������������)�*��������������������������������������������������������������������������������   ���������������� 

���������J����0��	�@�
.3/��*���0��I�1�L2 / L1 = 0.8 � ��	t = 1.15 �I�S.�����.���*�4-���
��  94.3% ����6����

�-�+��

��

���./���0��I�1� 0.85 ( 0.943 ) (88) = 7.05                                                                       

��������������0��I�1�0.15 (0.943) (88) = 12.4                                                                

����.���������0��I�1�0.052 (88) = 5.0                                                                              

 

��-�\/��*������1���-�
�-�6���	���
("[�+��
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�����������������������������������������������������������������������������������������������������������������
��������   ����������������������� 

Z�>�I�S.��
F��'��e
Z�* 

�
�

�
�
�

�
−−=

285.0

2
11

85.0

bdF

M

F

bdF
A

Cd

U

Yd

Cd
S 

�	�/���6�?��*d = 180 – 20 – 5 = 155                                                                                      

                

��0$��6�?��*d = 180 – 5 – 10 -20 = 145                                                                                  

             

 

 

 

�	�/���6�?��*�e
Z�*Z�>������ 

�
�
�

�

�
�
�

�

×

×
−−

×

×
=

2

6

155) b( 28)  0.6 ( 0.85

10 2
11

400  0.85

(155) (b) 28)  0.6 ( 0.85 U
S

M
A��

 

AS =   6.51 × b × [ 1- 
b

MU83.5
1− ]            

 

���	�/���6�?��*�D�*����Y@*Z�>��&�.�S?( 0.0018  bh )      

	���	*������*�H$.�� �ASmin 

 (mm
2

) 

AS  

(mm
2

) 

b 

(m) 

M 

(kN.m) 
q5��� �

5�10(@20
cm

) 327 291 1.01 -15 

5�10(@20 
cm

)� �327 y� �1.01 +8 

1/2������

���0�������� �

24�10(@18
cm

)� �1458 1828 4.5 - 93.3 

20�10(@22
cm

)� �1458 970 4.5 +50.25 

���.������� �

5�10(@20
cm

)� �327 y� �1.01 -14.2 

5�10(@20
cm

)� �327 y� �1.01 + 7.65 

1/2�������

�$[�*������� �

��

*�.H.��&��(�	�/���6�?�
��Q���0$��6�?��*�D�*����Y@�*Z�>+��

Z�1�������./�I
���.d�/���%-���
�F)��*������Y@*Z�>��-�F.���d���I�1��m�������S.�����./�
��e�������J����./���\[��*�V

*�����')�S.��
)S)
����.���.d�/+��

�D�*��*�a���]�b)�5��
��
?�/����
'�(��*�	���
�����U�G�A�
��D�*�
�������������J�1
m

 ��*�b-�T������������.��J�

�
$(�>�
������'��q5��d��FA��./�
F)�
����&�
��6��] 

KNVU 4.38)155.0
2

35.0
3(4.14)155.0

2

35.0
)(1(4.14

2

6)1(4.14
=−−=+−

××
=��

� �VC = 0.2 � C �fc bd = 0.2 (0.6) �28 × 1000 × 155 × 10
-3

 = 98.4  kN   

� � 

� VU < VC  

                                       � 
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�2\>��*R�]��������������������������������������������������������)�*��������������������������������������������������������������������������������   ���������������� 

 

 

��
�6W/�D�*Flat Plate         ���I���������
F.���I�����

C��O�6W/�D�*��Flat Slab ������*�I���������
F.�����

��

��
��

� �2���4��5����I����
F.��-�/���'��
��*����������*��.	�@�
�
$(�>�
��1/6���-�
��*��*������I�1���*�
���*�D���+8�
���*�D��

�/���'��
����'��
$(�>.����')�	�@�
��*���+�:H�%?���
�
��
F.���-���D�*��-�2O�����1/4�����D�*�2��6��WT��+��

��

 

 

��

��

���8������5����
��
�)���V����0)���W��

��

� �������D�*���6W/�-���D�*���C��O����
��l�1.��%��
���/������.$(��2��A�6�����1��a���J����*�
���*�

��������������-����	�-���
$�%�������I�����?��[���?��6���+��

��

� ���a���B����*-������*������D�*��6W/�����D�*��-�C��O��*�����')��]��

7y�a�����-�
>�����8�a��-Q1[�a�����:���

Ky�
>����*�a������8	�00��������a��:��

� ����a���S.)�����-�&��(�
��D�*�J
>�5�-/��.�A��-��
���.�/��.����')�J�����
�>�@����O�	�@�
�*����+�q5��

���'���
$(�>�
��d �I����#5��
��-I���������.��

��
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�����������������������������������������������������������������������������������������������������������������
��������   ����������������������� 
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�2\>��*R�]��������������������������������������������������������)�*��������������������������������������������������������������������������������   ������������_��� 

� �
>����*�a��8�	�00��������a���]�:�����/��5O��I�������JI����;������*����-��-�&��(�
��
F.����

�?��
���O���e����-�c��W���*���-��+�
����	���B����I����#5��
��	�.F%C���D�*��-
�
��6%���#5�

��
-��
����2-���&��(.�0Kf ��/�0U|��O�>�#5��
��
?�*�������. �*������D�*���0��+ 

��

	��B��U9"����?�@A
�29"�����
��
�)��5�����
�����
��)�8���X9#������+%�d/2<��/�G�B��F����

Y����Z�B��S�J�
��LL(�[ 

 

� 5�'���.��&��(�
��I������
��D�*�
����	�00�������������VU���'��q5���������*�������%��*�����#5��

�����'���.����\'��S��������
1QC��I����;�����J��0������'��q5����*���\'��#5�����������+��

��

��

��

-���6�)�"���S�LL(�\���#�5������8�����

��

⇐=

×+=

×+=

dbFV

dbF
b

d
V

dbFV

CCC

CC
S

C

CC

C

C

0

0

0

0

4.0

2.0)1(

2.0)
2

1(

ϕ

ϕ
α

ϕ
β

��

��

b0�]���'��=.'�����

Sα�]*�A�����
��6��������������.�������������Kf����J�����I�������0�������������7|����������I������
��@�7f��

Cβ�]��/�#5���C���q$T�
����S��q$T�6F%�.��@�
���

 

 

��

� �O���Vu�
����@�S��VC���J�����-���/��.�*�������
���-
��] 

��

7y�S>����-�D�*�2��6��WT��-�S>���-ET���&��\��D�*�6��WT����I����;������*�-���-���*�`.
F��

Ky�S>����-'���.�/�=.��@�
�I���������>�@��P���*������

My������"��
��	*��������������/�����
��	*������&��\��������\W��-���2.>�� ���*Z�>����
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�2\>��*R�]��������������������������������������������������������)�*��������������������������������������������������������������������������������   ������������u��� 

�
$�%��]���6���L�$5����$[�*�2�� ���-�2���4��5��6W/�D�*���+����

����
$�����*�	*��-�*�{��8�D�*�I
��I*�����')����:5.3 kN/m
2�������

����
$�����*�	��
-�*�{�� 3.8kN/m
2��

��

��

��

fC = 21 MPa 

fY = 400 MPa 
��

 

Ln = 6 – 0.4 = 5.6 m 

� hmin = Ln/33 = (5600)/33 = 170 > 125 mm  

 USE   h= 200 mm 

dAV = 200 – 20 – 10 = 170 mm 

Wu = 1.25 (5.3) + 1.5 (3.8) = 12.33   KN/m
2

 

Q1[�a���D��0�����

VU1 = ( 6/2 – 0.2 – 0.17) (1)(12.33)  

VU1 = 32.43 KN 

VC = 0.2�C�FC b d 

VC = 0.2 × 0.6 �21 ( 1000) (170) × 10 
-3

   =>   VC = 93.5 kN 

�
>����*�a���D��0���

VU2 = [ 6 × 4.8 – ( 0.4 + 0.17) ( 0.3 + 0.17 ) ] 12.33 

VU2 = 351.8 kN 

VC = 0.4 �C �FC b0 d 

b0 = 2 [ (0.3+0.17) +( 0.4 + 0.17) ] = 2.08 

VC = 0.4 × 0.6�21 ( 2.08 × 1000 ) ( 170 ) × 10
-3

 = 388.9 kN 

2�����3#��0�+��1�Y���

� 
�/-/�����I�1��q.��
��&��(�
��-�6����]��

�0��I�1���}��|g��

Fi��I�1��6�}M|g��

 

� 
�/-���I�1��q��0����6Fi�����.�������������������.������

������0��I�1����h|�g������������������

��������6Fi��I�1���f�g��������������� 
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�����������������������������������������������������������������������������������������������������������������
��������   ������������������x���� 

���


$�%��]���@� DL = 8 kN/m
2
  ���LL = 6 kN/m

2
 �.0������/�����$FO�
$�%����+ 

 

WU = 1.25 ( 8 ) + 1.5 ( 6 ) = 19  kN/m
2

 

VU2 = [ 6 × 4.8 – ( 0.4 + 0.17) ( 0.3 + 0.17) ] 19  �    VU2 = 542 kN 

  

��9.ET�	�00��������a�����')�
��D�*�������VU > VC   => ���������������

��

����6�����������	�00������������
��I��/�-
�4-�S>���-�*�*����

7y��S>��-����6���������

 VC = 0.4 ( 0.6 ) �FC × 2.08 ×10
3
 ( 170 ) = 542 × 10

3
 

FC = 41 MPa    �FC = 6.39 

 

Use = 300 mm 

 d = 300 – 20 – 10 = 270 mm 

VC = 0.4 �C �FC b0 d 

b0 = 2 [ (0.3+0.27) +( 0.4 + 0.27) ] = 2.48 

VC = 0.4 × 0.6�41 ( 2.08 × 1000 ) ( 270 ) × 10
-3

 = 736 kN 

VU2 = [ 6 × 4.8 – ( 0.4 + 0.27) ( 0.3 + 0.27) ] 19  =>    VU2 = 540 kN 

 

� 540 < 736      =>    VU < VC    ������������� 

 

��
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